[ normalized x? probability |

2549
1.079
0.8057

Entries

Entries 2566
Mean 1.077
0.7863

Entries
Mean
Std Dev.

o

Ll

0 24 6 8 10 12 14 16 18 20 ) 1020304050607 09 1

X2 Prob(xz)
m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom
A5 = 5F
5 N
c 4.5 A 4F-
~ - E
> 4 |
\ o E
3.5 2 2F-
3f Voo
25 oF-
2 -
15 -2F-
1 -3f-
0.5] ,42_.
o0 o =SE-p
§ 1 & -1
0.95] 0.5 -E-
23 L 2 3
TP n (PCA to beamline)
A A F
5 5 f
2 < 1.8fF-
= 1.8] = E
=< > 1.6F-
\ v o
1.6 1.4F-
1.4 1.2F
1.2f .
0.8F-
T 0.6F
0.8 0.4F
0.6 0-2p
o 4 o GQF
S 105 S
0.5
1
0. : . 5 0= .
107" 1 10 go 10 107 . 15)’1
T AR(track, jet
5
no4F
K
- 3:_
=Y E
o 2F-
\ E
-
of-
_1;_.
_25_.
_32_.
-
e &
I
o
0.5

. i ]
10" 1 10? p103
T



	Contents
	Page 1


